



International Economics  16.01.09
2 hours 30 minutes
Note: do not exceed 15 lines in each of your answers to the following questions.
1.  (1V) In the ricardian model of trade, is incomplete specialization a possible outcome for one of the countries? Explain.
2. (2V) In the context of the ricardian model, consider the following unit cost matrix:

Machines
Clothes

US
    90h

  100h

China     200h

  110h

In this setting, comment on the following assertion: “When countries start trading with each other, for each unit of clothes whose production is shifted from the US to China 10 extra labour hours (110h-100h) will be required. Hence, that shift of production will impose a loss on the two countries as a group.”
3. In the context of the Ricardian model of trade, consider the following example: 

Goods



A
B
C
D 
E

US productivity

8
7
4
3
2

China’s productivity

3
3
3
2.5
2

a) (2V) If  the US wage is equal to $2, the Chinese wage is equal to 1Y and the exchange rate is $1 = 1Y, which goods will be exported by the US? And by China? Explain.
b) (1V) Which phenomena may improve US competitiveness (i.e. increase its exports)? Explain.

4. (2V) In the context of the offer-demand curves model, is it possible that an increase in the relative price of the exported good ends up decreasing the quantity exported of that good? Explain.

5. (1V) One result of the HO model is that trade leads to an equalization of factor prices among countries. Does this result still hold if there are transport costs?
6. (2.5V) Explain how the relative factor abundance can determine the pattern of trade flows between two countries.


Illustrate your answer with graphs, and do not forget to mention the assumptions that support your argument.
7. a) (2V) In the context of the small country case, comment on the following assertion:

“The Voluntary Export Restriction of autos by the Japanese in the beginning of the 1980s inflicted a lower cost on the US welfare than if this country had instead imposed tariffs or quotas as a way of reducing its auto imports.”


Illustrate your answer with a graph.
b) (0.5V) Explain the economic meaning of the welfare loss associated with a).

8. (1.5V) Suppose that a final good is produced from two imported inputs. 
Free trade price of the final good: 100€
Tariff over the imported final good: 20%

Free trade price of input 1: 20€

Free trade price of input 2: 20€

Tariffs over each imported input: 50%

Calculate the Effective Rate of Protection of the domestic industry that produces the final good. Interpret your result.

9. (2V) “By increasing the amount of trade among its member countries, a customs union can have a negative effect on their welfare.”

Do you agree? Explain, using a graph to illustrate your arguments.
10. (1.5V) Consider the following production possibilities curve for goods x and y of two identical economies. In autarky, both economies have settled in the same equilibrium point indicated in the figure presented bellow. If, for some reason, there is a slight movement away from that point towards the horizontal axis in one of the countries, will inter-industry trade take place between the two countries?  Explain. In your answer assume that the relative price of the goods remains constant.
11. (1V) Can you give an explanation for the recent sharp fluctuations in the prices of food in the world markets?
